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[T 7 7 Populate this section only on one board, T T T 1
the other boards can take pouer from the populated one via JP2 and JP3

>
Inductor = Epcos B82111EC25 = Farnell 9752102

Peak current = B.7A%6 = 3.5A
Separate supply for control and transistor
so that the pulses don’t disturb control
and IC4 does not overheat

| |
, 6nd ,
| " .~ uDD |
| o = P2 mu 3
; S i5] &
@ 2 2 e
| 3 E o
, uoD Y = 2
| = £ |
| wo 2 oF uDD (@) |
S USs
| 29 -15U" ypp I
s o -18u
[ o |
x -
| ° & |
2 2 ﬂsc |
I 5 =18 |
2]
| sl |
g0 uDD
[ N USs ,
a
| 2 o] :
I =3 ds_glued 1o the side of the toard
! H“lw H COD |
| 10@uH -18Y £
|
|
|
|
|

Upp has no protection diode, because total current is too high for standard diode |

o , Lo N
Design is for negative supply
because most pouer supplies are under-used on the negative side uDD
1-227161-0
MC141@6B = Farnell 9666524
Suitch to select On/0ff/Computer )
FQP7N1@ = Farnell 98456390
UbD
Suitch = Farnell 9574646 . Q1 Qz
FQPZN1@ FQPZN1@
I wle 1 f-—u ey 15U%@,5A=7.5Wpeak
1k, K2 3= R2 R6
X2 1 . 4 1 H_ . HOVDN 5 HOVW s
Y=k E
2| ¥~ 3l 5o T s I 2.2 Omm
1-227161-8 401060 401060 401060 uob
pC123 I 6.8 Ohm s
Switch with 3 states: Computer, On, Off .AV. et LM337 N 3
Uss ubD +|C11 ADJ ol j~ 10u
W. 104 |y qur| b
10u >
PC123Y22FZ@F = Farnell 97074392 g Adjust to ‘fast suitch’-current
> 1.25U/280mA=6.25 Ohm (B.25W> >
C8 Adjust to ’hold’-current -17.5V
100n 15U%0.2A=3l
3ms pulse on rising edge
uob Diode = S1A = Farnell 7277920
USs -17.50 1
1-227161-0
CMOS 4000 series works at up to 15U
HC, HCT, and similar TTL variants _die_ at 15U
The high voltage is needed to properly suitch the mosfet.
FAPZN18@ = Farnell 9845630
UbD IC6E
MC14186B = Farnell 9666524 10 . Q3 Q4
FQAPZN1@ FGP7N1@
oK1 &, MWHSmD 109 --H 100 15U%0.5A=7.5Hlpeak
<
x4 i 4 ERY o e A B Icen 1ceB T R8 RLL
RT3 %\—N 2 N ) 2 E B\ 4 5
W 2 | ¥ 3, 3 o I 2.2 Ohm
1-227161-0 401060 408106D 401060 N
PC123 El I SUS 6.8 Ohm
287 18 I Jc14
B
Uss uDD - O / £/ C12 a 10u
ies S
PC123Y22F20F = Farnell 5707482 g Adjust to ‘fast suitch’-current
=

C15
1.25U%08.2A=0.25l

100n 15U%0.2A=3W

3ms pulse on rising edge

Adjust to ’hold’-
1.25U/288mA=6.25 Ohm (8.25W> -17.5U

current 1.25V/0.5A=2.5 Ohm
1.25U%0.5A=8.625lpeak

15U%0.5A=7.50peak

Four resistors to spread the heat

uUss -17.50 X Diode = S1A = Farnell 7277928



